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IBGL |7mvy| K4 | &S BEL 4 |RRB| %] INT | YDS| TD |LONG|iZhE| RATING
1 A BAX 19 | X&H 4 117 75 0f 906 9 27| 64.1 154.5
2 B BiEE 12 [£f0 EA 4 35 22 of 232 2 22| 62.9 137.4
3 A =F N 8 |/hNE Kih 2 12 49 3| 467 3 36| 68.1 128.0
4 A SEEBR 4 |EH FHE 2 122 71 2| 788 6 63| 58.2 125.4
5 B BAK 4 |BBEK B 4 90 52 4 523 4 33| 57.8 112.4
6 B MHK 10 [£f0 EA 1 n 40 1 363 2 32| 56.3 105.8
7 A =aF: YN 10 |FEE EN 2 46 25 21 213 2 36| 54.3 98.9
8 B BfEHA 8 |&¥ & 4 38 19 2 175 1 25| 50.0 86.8
9 B PEM 3 |ki#E E 1 83 38 4 390 2 68| 45.8 83.6
101 A N 11 |[RRb+AOL RE 4 100 54 2] 395 0 24| 54.0 83.2
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86z [nvs] K¥48 [ BE FEXS $4 [HEB[FEH INT [YDS| TD [LoNG[REZhE[ RATING
1 A BAX 4 |INF = 4 11 7 0 79 1 24| 63.6 154.0
1 B AR 1 = $RER 2 14 7 0 85 1 24| 50.0 124.6
3 A SRR 12 |[BAH & 2 10 5 1 92 0 45| 50.0 107.3
4 B AR 8 |BH# XH 3 10 4 0 30 1 101 40.0 98.2
5 A E SN 15 (Al BE 3 5 3 1 15 0 8| 60.0 45.2
6 B BiEHE 14 |AE XE 3 1 1 0 24 1 241 100.0 631.6
6 B PREK 9 |Hih X 4 1 1 0 -5 0 0[ 100.0 58.0
8 A SRR 7 &R BEIE 4 1 0 0 0 0 0f 0.0 0.0
8 A SEBR 29 |BIER pR3 4 1 0 0 0 0 0of 0.0 0.0
8 A S F PN 9 |FE £E 4 1 0 0 0 0 0f 0.0 0.0
8] A E PN 1 BEF BEA 4 1 0 0 0 0 0l 0.0 0.0
8] B MEKR 2 |EE 13 3 1 0 0 0 0 0l 0.0 0.0
8 A E PN 13 |k Bz 3 1 0 0 0 0 0l 0.0 0.0
8] B BEA KR 15 (O # 1 1 0 1 0 0 0l 0.0 -200.0
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